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R1177 290 32172 277 — And 1" follows the opinion of 17''9

Overview

Our X773 explains the opinion of 111 27 who maintains that the Xn7ax M7V is
accepted, even though these 2’7y were contradicted concerning the N7y
272X, The reason is because 1am1 27 agrees with X117 27 that in a case of *n
"Ny, even though both groups of 0>y are 7109 P50, nevertheless we disregard
this 2109 Po0 and maintain the original M w> npm of both groups of o°7y.
They are believed in any other testimony (besides the contradictory
testimony, where we cannot believe either of them). According to jam1 27
this applies even to a (different) testimony (XN72aX M7Y) in the very same
case where they were contradicted (7238 M7v) and considered a 9109 po.!

mooIn asks a question:

N°In (3, a7) NM2NDT '2 P27 7R°M — And it is perplexing! For we have
learnt in a Xns"92 in the second P95 of N2> -

NP T Y PRInn 1w o — Two witnesses that were signatories on a
document, and they died subsequently before the document was authenticated —
TIARW 291w WR2Y — and two other people came and stated —

[zm] N7 27 2now [1y7] — we know that this is the handwriting of the
deceased witnesses; they are authenticating the signatures —

[31*.';] 2o1up Yax — however they were minors when the signed this 0w —

[1977] n17Y 90D IR — or they claimed that the deceased were disqualified
%7y

%577 290K N — or they were coerced to sign this document. On one hand the

second group authenticated the nm nn; however they maintain that the document is
invalid for the reasons given. The ruling is as follows:

TN 2IPRR KX 27> an> aRk — if the signatures of the deceased can be
authenticated from another source; there are certified copies of their signatures
available which compare favorably with the signatures on this document, then the second
group of o7y —

" The X"w1mn explains that the ruling of 3" 71" does not apply in a case where 07y are directly
disqualifying other 0>7v by claiming that they are 0°1%73. In this case all will agree that (we do not say it is
"M 1, but rather that) the second group is 2109 for all m7v. The o°7v that are being disqualified cannot be
considered as *7n, for now they are the 727 °7¥3, and not 2°7v. However in the case of 17"71 1" the 0*7v are
contradicting each other concerning something else. Neither group can be considered as 127 *7¥3, but rather
as 0*7y. It is only in these cases where the m?02 is merely implied, that we consider it 1 *n. (See
footnotes # 4, 13-15)

> See "2 NN

? See previous 11" M.

* The o*»01977 0*7V are claiming that the P nna 07y were 2100 at the time of the 7w N> nm, but not that
they are m7v% 2100 now (See footnote # 1).
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IR IR — are not believed to disqualify the *avw. This concludes the quote from
the xn>>72.

mMooIN continues:

79921 — and the X723 there challenges this xn>>3, which states that the second
group are not believed, this implies —

Nwwa 1752 139232y — and we collect with this contested 9wR! How can this be?!
Itis -

177352 99N 910 — two against two! The two latter 2>y are disqualifying the two o7
on the "ww. Therefore even if we authenticate their signatures from elsewhere,
nevertheless the two latter 07y are claiming that it is an invalid qow. It is 1M ™n!1°® After
some discussion in the X3 —

A :ﬂ(7:) ani PsenY — am 29 concludes there —

Nauwa 19237 X927 — that we cannot collect with this "vw —

>2n 7% 510 9PNy — for we place two 2>y who disqualify the qvw against
the two o>7v who validate the ®ow —

7597 NPT R1R OPIRY — and we place the money in the possession of its
owner’. Whoever has the money gets to keep it, regardless what it says in the 0w.

mdoIn now presents the difficulty:

792 329232 K 982K — and why do we not collect with this “vw?!

K317 295 X277 77199 K7°20 K71 — for the same 1" maintains here as 77''9 does -
NI NTYY 27 2vwsT - that the wnown 0°7v are 2> ws o7y for any other
testimony where there are not being contradicted. The reason for this is —

Maws npIIR 1o Pt — for we place each group of these nwnoma 07w
on their original presumption of Omyws.

3 If, however 7nx 0PnM KX O7° 2N TR, and the only authentication is from these 0°7¥ who claim 177 o°1vp
"9, the 7w is invalid. These latter 0*7y are believed for it is considered °nAw 1797 R 0OKRW 797, We can
only validate the 70w is on account of their testimony, but they simultaneously claim that the 0°7v were
9109. It seems that even though 13K X7 >0 *2 131 (see previous 1M 7"7 MdOIN), nevertheless 2 131 ORY 797
*n, we do say.

%It is considered ™M ™n even though no one is actually disputing the witnesses who claim "21 7 2°0p.
The reason is, because once we authenticate their nn°nr it is presumed that they were 0> w2 o°7y. This
presumption is considered as if the 1nn7 07y are testifying that they were 0w 2°7¥ and what they
signed is true. This is implicit in the very essence of a qvw.

7 As corrected in the margin.

¥ See previous footnote # 6.

% If it would be a case where X PR XX 07> 202 PR, then 7"°2 would tear up the 0w. In this case 7""2
does not tear up the 70w; nor does it validate the q0w.

' In the case of our X3, the o7 are contradicting each other concerning 72°2%; each group implying that
the other is testifying falsely, thus 7109 for any other m7v. Nevertheless since it is only a 2109 poo (for there
is contradictory testimony) we maintain (according to jum1 27) the original M w> npin of each group
allowing them to testify (even in the very same case) if they are not contradicted in this testimony.
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>n7 nInR m7ws ['on1] anm — and there [also] the testimony concerning the
loan is similar to another testimony from the testimony concerning their
qualification as O°7y.

YR awnsn PR N7 — for these 27y who claim "o 17 2°vp are not
discrediting —

79757 NNT2 29230177 NR — those 0°7v that signed on this loan —

2192 1% 2991 PRY 29N 1w — that the 0°501977 0>7v should be saying that
the M owes nothing to the m%x. The o°%0197 07y are not saying this.

RRW RO — but rather the 0°%01977 0>7¥ claimed that -

71T 9272 2°1%K1 251K — you are not to be believed concerning this matter —
an>n av71eeT — for you were disqualified; either by being 2°10p or 21 o°0uK.
Therefore —

2UIARIT 79 32 1 — we should have maintained that the oW >7v be
believed concerning the loan —

The 7vwn 7Y since they were authenticated are (presumed to be) testifying that they were
2pws 007y, In addition, they testify to the veracity of the loan. The 0°017 > are only
testifying concerning the M7 w> of the 7wwn >7v. They are not testifying whether the loan
is true or not. These two groups of 27y are 77 NX 77 W21 concerning one thing only;
whether or not the 0’7y were w2 when they signed the 7vw. We cannot come to any
conclusion since it is > n. However concerning the loan there is no contention. The
w7y testify that there was a loan and no one is contradicting them. Therefore

according to 1111 27 (and X117 27) the MY on the loan should be considered an NAR M7V
than 21177 2219, and the W *7¥ should be believed concerning the loan."

2 w7 807 1> — just like here in the npY7nn between 1" and X2, where 1"
maintains that the Xn7aX 7Y are Ww> —

DNIN 2OWOnoR Y9RT 23 WY O — even though that these other 71 7y are
contradicting them concerning the 7717, and by this contradictory testimony —

anIR 2°90121 — they disqualify the (7prm) xnmax 7

IR 92w — and the 7P *7Y consider the (7pmm) xnmax -y

2"op Ixw> — like all other disqualified o*7v

M7y 227 5% — for any matter of testifying. In the eyes of the spin *7v the 7y
(7prm) XnmaR are liars and should be disqualified from ever testifying again.
Nevertheless, we do not accept their implication; for the (7pm1) XnAaX 7Y have a NP
MW, and are believed in all other testimony, even concerning XniaX which is affecting

"' See n"an M.

2 See previous footnote # 6.

" This question is valid only because the 201971 0*7¥ are not claiming that they are 2109 now, but rather
they were 109 at the time of the quwi nn°nin. They were o°1vp then, etc. The W *7y would not be
considered 7"¥2, since we are discussing a past testimony; not their current status. If however the o7y
2°»019771 would claim that the 2vwn >7v are °109 0>7v now, then it would not even be M >n since the 7V
quwi would be 7"'v3, and not 2>7¥. The 10w *7v would be disqualified and the 70w would be discarded. See
footnote # 1.
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the same case in which they were contradicted. The same should be true in the case of
21 1°7 0°3vp, that the Tww: 7 should be believed concerning the loan.

N1DOIN answers:
PITXY 11929 2IRY — and the >''1 says —

77 2%aup 1R 957 — when the disqualifying o>7v said that the signatories
were minors when they signed the 70w; so even though it may be considered >m >n,
nevertheless —

WIPPIANR ITINPIRY K290 — we cannot establish them on their presumption
of M w>. The question here is whether or not these o7y were 0°1vp2 when they signed this
7vw. There is no P11 that they we not 0°1vp; on the contrary every person was previously
a 1op! If there is a question if they liars or not (as in our X7n3), then they have a npmn
MW, but not concerning if they were o°3vp or 0°2173. Therefore the P50 remains.

mMooIN continues to explain the next case:

2°011R 121 — and similarly when the 2>7v claim that the 701 were 29018 —
MWD NP W0 open KY a1 — they also did not exclude the ymnna o7y
from their N w> npn —

NIWDI N 1T PONR JRT — for we assume that they meant that the 27y

7mnna were coerced to sign under the threat of death. One is not permitted
to sign falsely if threatened by monetary loss. If he does he becomes m7y% 9105. However
if one is threatened with his life, he is permitted to sign falsely, and certainly does not
become M7Y? 905, The o>7¥ are claiming that the 1NM7 07V were MWD MMM DY01R; the
Wi 7Y (presumptuously) claim that they were not 2°01K. It is *n *n. However there is
no 7P that can tell us that they were not nMYwo1 nann ooy,

modIN now explains the last case: When the 0°701577 0*7v stated that the 1mnnn 07y -

Y7 M7y Y92 — were disqualified 297¥ which could seemingly mean that they are
°ywA; in that case there would be a maw> npin, that they are not o°yw. Nevertheless
there is no difficulty —

"% X287 — for we can say that 22100 means —

Thuwn amR av%oew 1o — for instance that they disqualify the o7y
121017 from when they were born; meaning —

Y77 2P 2mRINY — that the 090197 0°7y say that the PnInnn 0°7v were
relatives (either to each other or to the m»» or M%) from birth —

yeran: vwsyy — and now they became distanced; the relationship no longer
exists'>. It was a relationship due to a marriage for instance and the marriage dissolved

' If the o*>01971 0*7v would claim that the 1IN MY were 1M nnn 0°01R, which is forbidden, then it
would be similar as if they were 201 them by 8113, The 0w >7¥ become 7"¥2 and they and the Tuw
would be 109. If, however, the 0°701971 07y testify that the quw: >7v subsequently did 72w, they are not
7"v2 any more, but considered 0°7v. Therefore, on account of the "1 >0, we would utilize the M w5 NP
to absolve them from this accusation and be 7°w>71 them (for other M7¥) as well as the ww.

'3 1t is required that the 0°0177 0¥ agree that now the 7w *7v are not relatives. If they claim that they are
relatives (even) now, then the 20w >7¥ become 7"¥2, and there is no >0 *n (see footnotes # 1, 4, 13 & 14).

4

TosfosInEnglidh.com



7M1 271 3"7 '0n 2,87 2"2 702

and they are no longer relatives'®. In this case also since the 07y claim that they were
relatives from birth, there is no mAw> npin that tells us they were never relatives.
Therefore even though it is >0 °7n, it remains a poo. That is why 7211 27 there concludes
that 797 P12 X1nn °PIX for there is no MW NP that can resolve the 01 >7n.

Summary
The 17 (of 1" 7"9) that "XT 2w 17 0°7v are permitted to testify for other

nM7y, is limited to situations where a MW NP can resolve the 7109 Po0
created by the *am >7n. If however there is no 7PN that can resolve the N
N1, the Po0 remains (and the 0°7¥ certainly cannot testify in the same case
even for a different M7Y).

Thinking it over

1. Is mvoIn asking that the 27y should be believed concerning the loan, or
that the "W should be Ww>? (What 1s the difference between these two
options?)"”’

2. It would seem that if they claim 7 0°01X, they are also implying that
there was no loan. Why does n1901n include this in his question and answer?

3. In the case of 17 01w why do we not say there is a 7P that 2>7vn X
21732 WY1 O"RR 0w By Pann?

4. What changed in mo01n understanding, from the X°wp to the y17°n?

' For instance if a(n older) sister of an 7v married the 7171 before the 7v was born. That is a 727 9109
791wn. The 7¥ cannot testify for his sister’s husband. Once they are no longer married the 7v may testify on
behalf of the man.

17 See D°¥1777 MIdWM on T-1XW MK N121N2 'on.
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